B HmEETT

7 £ W ' %

| B &7 T8 F 418 R | R o EE
RI=EA SRR WM R e | st

THE EY) 1. &R5KGE B 10401 300,000 78,38} 15,0000 206,620 0 ERX MR EE A KRELR » HKE
BER TR 110.12 @I Hp TR T Rt
I 5 1 TR E T T R Es | HE
» $3%ZE0. SBIE B L T4 6TT » A
FE4R51258 8T - MEAEE101.10.
2T ERAEFEE101020115
355 oK [E E e -

1.1 (104) %23 ,0208 5T ¢ (8
[;EJTEQUY%EJF% (BE12#H) TE
2. B2 (105) 4% 4, 8178 5Tt (8
[;EJTEQUY%EJF% (BE12#H) TE
3.3 (106) 88 E 1, 5008 7T (775
HEHE) -

4. EE4FE(107) 25,1658 5T T (I8
HEEEHE) -

5. EESH(108) 8L S5, 1658 5T T (R
HEEEE) -

6.6 (109) 425, 1658 5T 7T (K
HEEEHE) -

7. ETE(110)&E5, 1658 5T T (K
HEEEE) -

[ I8 A 1. AT A RO 100..01 647,800 607,800 40,000 OpFL i — it T 20 ~ St R OJe - 4R
T 106.12 PRI 19, 796 5 A R - 4HE8ER6(54

T80T » Hrh TRk g
BT SR TR RS R
E > H3%ZE0. SUEE2TSHE I > ARE
FEARSI1TE T - fEFEE99.10. 265K
HE G (=) FEE099018251657 6/
[E =Y -

1. 815 (100) R E40085 4T (B
EEHTE) -

2. B2 (101)&E 2, 003E T (=2 A
S E) o
3.EB34E(102) 4K %5, 0008 T (B &
B E) -

4. SEAE(103) 8K E9, 8008 T (& IEE
S EFLE) °

5. SHE (104) 4822055, 000 7T (&
A S E G E)

6. 565 (105) 82 18,5768 6T 7T
(BEESENTE) -

7. 5T (106) 4884, 0008 7T (2
EEERCE) -

2 EEEREHET|102.01 667,163| 488,142 179,021 LEiE o b A N U = I A ) = RSV 3
=2 106.12 MREFELS, 1033 - AR - JA48E 6= 1
L7108 7T » Hep THEE R [ g
B SR TR RS R
TE o FHE3RE0. SBEE2868 T © AFE
FEARFIS2E 9T IT - fEEE97.12.2
VB G 5097025528655 B
[EEZPEE > 104.5 20 H 55 a8 E
(=) FEE1040064508%% 54 [5] 25 5 16 4%
2 6056, 71683 T -

1B 15E(102) 85,0008 T (A
[ERREE = (FEI2ER) ZE)

()]

2. B2 (103) 88 1183, 81482 TF7T




B HmEETT

FHE A1 THH 441

o

7 F W

#

DURTHERE

A

DURAFRE

&

e R i

CHERTHR
SCHE)

3.3 (104) &8 28 T (ERTHLR
REEHE (ERI1ER) JE) -

4. 5545 (105) &K 1Rt CERTER
REETE (BEI12#%) XE4,988
ETTIT > HRCES, 01183 T8 )

5.5 (106) & & 1%7,9028 1 FT
EHEASEE) -

BatdE (EEIER)

PR e s

1. e BEE ) Z40
E LR

103.01
108.12

215,092

148,411

15,000

51,681

HIEL R E AT K - 1213
TERLE - ETIE S BB S 40 4
KEERT 1, 50082 T T > KPP TEE

EHER | R B S AR AR
SRS ) BUE o $3%%20. S%ER13
SETT - RERERIN2E4T T - IR
102, 1. 1088 TR BEbe i L2 E
5510202000555 6k [E] B HEE -

155 14(103) & %2, 0008 7T (EH

[HORERT S (BEI128%) )

2. B2 (104) &8 E 4, 946 6T 7T (18
r)mﬁgej(%i?r% (BE12E%) L
334 (105) 4887 ,8948 5T ¢ (3
r)cﬂIE;lejt%%Jr% (BB ) S
4. SEAFE(106) 88,5008 7T (B
HEHE) -
5.ESE(107) 22, 471 E Tt (%2
HEEEE) -

6. O (108) &8 E2 , 69682 T 7T (F2
HEEEHE) -

PaN

it

1,830,055

1,322,733

249,021

258,301

PifeE - ARREEE H 2 ER -



